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Multiplication Word Problems

1. In a garden, there are 6 plots. Each plot has 3 rose bushes. The
gardener plants another 4 rose bushes. How many rose bushes are in
the garden now?

2. There are 3 classes in a school. Each class has 7 students. The
school enrolls another 2 students. How many students are there in the
school now?

3. A bakery has 5 types of pastries. Each type is baked in batches of 6.
The bakery makes an additional batch of 8 pastries. How many
pastries does the bakery have?

4. A hiker walks 4 miles every hour. After hiking for 2 hours, he walks
an extra 3 miles. How many miles does the hiker walk in total?

5. A train has 3 carriages. Each carriage has 6 seats. The train then
adds another carriage with 4 seats. How many seats are there on the
train now?
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